
BXG.9820-S
(INSTALLATION INSTRUCTION)

CONTENTS1

Roof Rack

MAKE A DIFFERENCE

Flange Hex Lock Nuts

Flat Washer

Please verify all parts are present and read instructions carefully before starting installation. 
Please feel free to contact  your distributor if you have any kind of question about your purchase.

TOOLS REQUIRED2
To view online instruction, please

 scan the QR code.

13mm Shallow Socket5mm Hex Bit Socket

Drive Ratchet Handle 13mm Wrench

8

16 Rubber Gasket 19*6.5*3

36 M8*16*1.5

M828 M8*20

8 Hex Flange Bolts M8*65

Qty Part Name PictureSize(mm)

Button Bolts

Qty Part Name PictureSize(mm)

A: Front Faring

D1&D2: Side Rails

E1&E2: Front Mount Brackets

F1&F2: Rear Mount Brackets

B: Crossbars

C: Rear Faring

A
B

B

B

B

B

C

D1

E1

F1

F2

E2

D2

https://manuals.plus/m/865d05e20dcf26fb86aab3b6aef1537d67bd2d50f593fec56a46b70d5320a5aa


INSTALLATION INSTRUCTION3

Step 1

Remove the factory vehicle roof rack. Use a a easy door panel removal tool to remove the plastic cover, and 
then unscrew the factory screws.

Install the crossbars to the side rails using the (20) M8x20mm button bolts, (20) M8x1.5x16mm flat washers.

Do not tighten the hardware at this time.

Step 2



Step 4

Please differentiate the installation positions of the mounting brackets. The brackets are marked with D1, D2, P1, P2, 
corresponding to the driver's side front and rear, and the passenger's side front and rear.

Step 3

Install the front & rear farings to the side rails using the (8) M8x20mm button bolts, (8) M8x1.5x16mm flat 
washers, (8) M8 flange lock nuts. Tighten all bolts.

Put the rubber gasket to the factory holes. 

Step 5

比例
 

100
0.0

00

比例
 

100
0.0

00

比例
 

100
0.0

00

比例
 

100
0.0

00

比例 1000.000

比例 1000.000

比例 1000.0
00

比例 1000.0
00



to find your parts.
Feel Free To Share Your Vehicle
With The Hashtag #hookeroad If You'd Like

@HookeRoad4x4

(Driver Side) Install the roof rack to the vehicle using the (4) M8x65mm hex flange bolts, (4) M8x1.5x16mm flat washers, 
(4) rubber gasket. Repeat this step for the opposite of the roof rack.

Step 6

Step 7

The installation is complete. We hope you enjoy a wonderful off-road life with this quality Hooke Road product!

比例 
1000.000

比例 
1000.000

比例 
1000.000

比例 
1000.000

Front

Rear


